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D 3
2 1,335 1,335
3 1,338 (1,33 +1,338 + 1,352 ) = 3 =1,342
4 1,352 (1,338 + 1,352 + 1,376 ) = 3 =1,355
5 1,376 (1,352 + 1,376 + 1,391 ) = 3 = 1,373
6 1,391 (1,376 + 1,391 + 1,404 ) = 3 = 1,390
7 1,404 (1,391 + 1,404 + 1,421 ) = 3 = 1,405
8 1,421 (1,404 + 1,421 + 1,407 ) = 3 = 1,411
9 1,407 (1,421 + 1,407 + 1,450 ) = 3 = 1,426
10 1,450 ( 1,407 + 1,450 + 1,466 ) = 3 = 1,441
11 1,466 1,466

D 3
2 |1,335 1,335
3 |1,338 (1,335 + 1,338 + 1,352 ) = 3 = 1,342
4 |1,352 (1,338 + 1,352 + 1,376 ) = 3 = 1,355
5 | 1,376 (1,352 + 1,376 + 1,391 ) = 3 = 1,373
6 | 1,391 (1,376 + 1,391 + 1,404 ) = 3 = 1,390
7 | 1,404 (1,391 + 1,404 + 1,407 ) = 3 = 1,401
8 | 1,407 (1,404 + 1,407 + 1,421 ) = 3 = 1,411
9 | 1,421 (1,407 + 1,421 + 1,450 ) = 3 = 1,426
10 | 1,450 (1,421 + 1,450 + 1,466 ) = 3 = 1,446
11 | 1,466 1,466
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